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Mean

Z-Score

Mean= 0
S.D.= 1
Range= -3ó to +3ó
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X-M
Z=   -------

ó

X=Z. ó+M
Z=Value of Z Score
X= Value of Raw Score
ó= Standard Deviation
M= Mean of Score

Z-Score
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M= 75
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To know the Z- Score when 
Raw Score is given:

If, X=90, ó=15, M=75 then Z=? 
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Z=   -------
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Z=   +1

Z-Score
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M= 75

X-M
Z=   -------
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To know the Z- Score when 
Raw Score is given:

If, X=30, ó=15, M=75 then Z=? 

150 4530 60 10590 135120 150

X-M
Z=   -------

ó

30-75
Z=   -------
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Z=   -------
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M= 50

X= Z.ó+M

To know the X- Score when 
Z-Score is given:

If, Z=2, ó=10, M=50 then X=? 

100 3020 40 7060 9080 100

Z-Score

X= Z.ó+M X= 2*10+50 X= 20+50 X= 70


